
MAT 126: Trigonometry 
Review for Final Exam 

 
1.  tan A = 2/9  A is in quadrant III  
     sec B = -7/4  B is in quadrant II 
 
Give exact values (simplified fractional/radical form) for the following:  
 
(a)  sin A = ________________  (b)  sin B = _________________ 
 
(c)  cos A = ________________  (d)  cos B = _________________ 
 
(e)  cot A = ______________   (f)   tan B = ________________ 
 
(g)  sec A = ___________   (h)  csc B = ________________ 
 
(i)   cos (A + B)= 
 
 
(j) sin 2A =  
 
 
(k)  tan A/2 
 
 
2. Convert the following: 
 

(a)  18° = _________radians  (b)  7π = ________degrees 
 
 
(c) 58.27° = ___________________ degrees, minutes, seconds 

 
 

(d)  33 rpm = __________ radians/sec = _____________meters/sec   if radius = 4m. 
 
 
 

3. Solve for x in degrees in the interval [0, 360): 
 

(a) tan (3x – 4) = cot (4x – 3) 
 
 

(b) 2cos2x + cos x –1 = 0 
 
 

(c) -2 cos 2x = √3 
 

 



4. Solve the following triangles: 
 

(a)     (b)   
         . 
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7. Graph each functi

appropriate values
 

(a)  y = 3 sin (6x) 
 
 
8. The function y = -

shift ______ units
______. 

 
9. Give the exact val
 

(a)  sin-1(-1) = ___
 
10. Solve for x.  Use y
 

(a) cos-1 x = ( tan-

 
(b)  8sin-1 (x + 1) 
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